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(1) ZEFHRE(v) UTHOERZEY v =10 %
(2)EdE 7 (m)

_ 0.85 _ _ 1 _
al1= 5.0 = 1,91 a2 = - 50V = 1.95
100 100

m= a2 X SL = 1.25 X 27 = 33.8 N/uf
(3)/KEAL FEL(W/C) m

£2T m

33.8 N/mf

-16.2 + 26.8 X C/W

W/C 26.8 + (33.8 + 16.2) X 100 = 53 % = [55% (@) ]

SW/C = 53 %
(4 ) BAKE (W) YTHEOERKCEIY W =170 keg/m
(5)EfEAL FE(C) C =W+ (W/C) X 100 = 170 = 53 X 100 = 321 kg/m
Cv= C + B = 321 — 3.04 = 106 £/ni
(6) 4K E(A) A = 4.5 % X 1000 = 45 2 /m

(7)BALHEME(G) YU ILHBOEFEICLY HEIEHE = 0.595 mi/md FEEE =580 %
Gv = 0.595 X 1000 X 58.0 = 100 = 345 2 /mi
G = Gv X REEE = 345 X 2.82 = 973  kg/m
Gl =G X 45.0 % = 438 ke/md
G2 =G — Gl = 535 kg/m
(8) Hifi M ER &2 (S) Sv = 1000 — (W+Cv+Gv+A) = 1000 — 666 = 334 2 /m
S = Sv X KREEE = 334 X 2.67 = 892 kg/md
S1 =S X 30.0 % = 268 kg/m
S2 =S — S1 = 624 ke/rd

(9)MEHE(s/a) s/a = Sv + (Gv+Sv) X 100 = 49.2 9%
(10) BT IRFIAE (Ad) Adl = C X ENE = 321 X 0.800 % = 2.57 kg/m
Ad2 = C X FEME = 321 X 0.800 % = 2.57 kg/mi
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